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What is the current density, in units of A/m?, in the wire?

(A) 10.0
(B) 6.21
(c) 3.92
(D) 3.33
(E) 2.56

What is the number of conduction electrons per m’?

(A) 6.02x10%

(B) 9.406x10%

(C) 9.406x10%

(D) 8.47x10%

(E) 8.47x10%
What is the conduction electron drift velocity in m/sec.

(a) 2.46x10°%

(B) '2.46x10"

(C) 2.46x10?

(D) 2.46x10°

(E) 2.46x%x10°
In the earth's atmosphere positive charges move toward the
earth and negative charges move away from it. The total
current is 1800-A. The average value of the electric field
responsible for this current near the surface of the earth is
100-N/C. What is electrical resistivity of the air at the
surface of the earth? The radius of the earth is 6.37x10° -m.

(A) 2.83x10° O-m

(B) 5.06x10" O-m

(c) 2.83x10" O-m

(D) 5.06x10° Q-m

(E) 3.52x107 Q-m
A éharged particle g is projected into the region between two
parallel plates. In the region of the plates there is an
electric field €=50,000-N/C and a magnetic flux density
B=0.1-T. The electric field is perpendicular to the magnetic
field, and both are perpendicular to the particle's direction
of motion as shown, in the figure below. If the particle

traverses the region between the plates without deflection,
what is the velocity of the particle in m/sec?
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